NATIONAL STANDARD EXAMINATION IN CHEMISTRY-NOVEMBER 2022
Analysis data of NSEC 2022 Question Paper (MCQ)showing number of students who reported correctly and number of students who appeared

	Sr.no.
	Set
31
	Set 32
	Set
33
	Set 34
	Answer 
	Total
	Total Students

	1
	1
	6
	5
	4
	D
	1771+1637+1655+1488
=6551
	6706+6350+6132+5783
=24917

	2
	2
	7
	6
	5
	C
	4005+3649+3582+3382
=14618
	

	3
	3
	8
	7
	6
	B
	3393+3090+3068+2918
=12469
	

	4
	4
	9
	8
	7
	D
	1452+1369+1359+1232
=5412
	

	5
	5
	10
	9
	8
	C
	664+604+611+566
=2445
	

	6
	6
	11
	10
	9
	C
	997+878+895+823
=3593
	

	7
	7
	12
	11
	10
	A
	1272+1165+1173+1115
=3721
	

	8
	8
	13
	12
	11
	B
	1263+1260+1237+1156
=4916
	

	9
	9
	14
	13
	12
	D
	1900+1798+1734+1632
=7064
	

	10
	10
	15
	14
	13
	B
	1564+1413+1404+1306
=5687
	

	11
	11
	16
	15
	14
	B
	1105+1152+1112+994
=4363
	

	12
	12
	17
	16
	15
	C
	1648+1603+1559+1436
=6246
	

	13
	13
	18
	17
	16
	C
	812+758+820+692
=3082
	

	14
	14
	19
	18
	17
	D
	836+788+744+687
=3055
	

	15
	15
	20
	19
	18
	A
	617+638+569+551
=2375
	

	16
	16
	1
	20
	19
	A
	649+619+610+536
=2414
	

	17
	17
	2
	21
	20
	C
	2316+2255+2135+1984
=8690
	

	18
	18
	3
	22
	21
	D
	1171+1117+1072+991
=4351
	

	19
	19
	4
	23
	22
	B
	2603+2601+2394+2187
=9785
	

	20
	20
	5
	24
	23
	D
	2345+2271+2092+1995
=8703
	

	21
	21
	21
	25
	24
	C
	1004+984+883+855
=3726
	

	22
	22
	22
	26
	25
	C
	1965+1908+1751+1714
=7338
	

	23
	23
	23
	27
	26
	B
	1685+1638+1539+1440
=6302
	

	24
	24
	24
	28
	27
	A
	1009+960+911+869
=3749
	

	25
	25
	25
	29
	28
	A
	490+469+428+471
=1858
	

	26
	26
	26
	30
	29
	C
	844+780+769+737
=3330
	

	27
	27
	27
	31
	30
	C
	863+863+832+791
=3349
	

	28
	28
	28
	32
	31
	D
	3127+2944+2812+2680
=11563
	

	29
	29
	29
	33
	32
	D
	1651+1653+1621+1553
=6478
	

	30
	30
	30
	34
	33
	D
	1657+1644+1562+1483
=6346
	

	31
	31
	31
	35
	34
	C
	3249+3169+3127+2885
=12430
	

	32
	32
	32
	36
	35
	A
	813+766+740+683
=3182
	

	33
	33
	33
	37
	36
	C
	2362+2226+2018+1865
=8471
	

	34
	34
	34
	38
	37
	A
	1089+1036+1063+898
=4086
	

	35
	35
	35
	1
	38
	C
	4134+3932+3949+3560
=15575
	

	36
	36
	36
	2
	39
	D
	1359+1242+1296+1110
=5007
	

	37
	37
	37
	3
	40
	C
	1511+1439+1516+1253
=5719
	

	38
	38
	38
	4
	41
	B
	1027+967+1020+874
=3888
	

	39
	39
	39
	39
	42
	A
	784+773+758+637
=2952
	

	40
	40
	40
	40
	43
	D
	1612+1526+1548+1353
=6039
	

	41
	41
	41
	41
	44
	D
	1917+1890+1790+1670
=7267
	

	42
	42
	42
	42
	45
	B
	1075+1026+994+924
=4019
	

	43
	43
	43
	43
	46
	A
	1510+1506+1491+1463
=5970
	

	44
	44
	44
	44
	47
	B
	1431+1413+1399+1268
=5511
	

	45
	45
	45
	45
	48
	C
	697+678+713+688
=2776
	

	46
	46
	46
	46
	1
	C
	2483+2344+2353+2587
=9767
	

	47
	47
	47
	47
	2
	C
	2480+2301+2286+2590
=9657
	

	48
	48
	48
	48
	3
	D
	1268+1157+1156+1096
=4677
	



